Subject: Re: REFORM: new subscripts must not change the number elements in
array
Posted by g.nacarts on Mon, 02 Mar 2015 17:12:30 GMT

View Forum Message <> Reply to Message

Yes, | saw your last message but | am interested to understand how you end up before with the a
= reform(a, 100I, 2001*2l, /overwrite). | followed your steps but | changed the dimensions to see if |
understand well.

A=randomu(s,216,216)
IDL> print, product(size(a, /dimensions), /preserve_type)
46656
IDL> print, product([120L, 216L*216L], /preserve_type)
5598720

Then | tried to write it like this: a = reform(a, 120I, 2161*2I, /overwrite) but | got the error that |
mentioned before.
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